: WSD032301.dwg

Cad Ref.

LOCK ASSEMBLY
(SEE DETAIL)

ANTIBURGLAR AND
WEATHER PROOF BOX

TURF/GRAVEL OR
SIMILAR LAYER

ALUMINIUM PLATE

800 COVER

CHEQUER PLATE

(6 THICK ALUMINIUM ALLOY

R
1 s

30 x 6 THICK\/

ALUMINIUM ALLOY
PLATE STIFFENER

HINGEJ‘

- I

LABELil—U—-LI
IN ENGLISH WELDED TO |
ALUMINIUM CHEQUER

PLATE (SEE DETAIL)

|
|
|
1t 535
%:LJ--H ===t
| ===

a9
| 100 | 900 x 600 CLEAR OPENING | 100 |
[ [ [ |
L 125 | 150
| { |
o #10 ALUMINIUM 200
S ALLOY HANDLE
r—r - - T — S| T T o
L—"—g_—‘_ ___________ 1 I 2
| N Vi |
I AN i
RN g
| N |
oll 1 2\ Ir
»I | \ |$
| l—

bNIMT 10 BETEYCE
EWEBCEMCA EXIL

(SEE DETAIL) Km;ﬁ
- NMS ANCHOR BOLT

30 x 6 THICK FLATS FOR
LOCKING OF COVER IN
FULLY OPEN CONDITION
(SEE DETALL)

- ALUMINIUM PMT£BEL ” <:|
Limr S | 1 y
PLATE (SEE DETAIL) : \\\\ I :¢ VIEW X
kﬂL \\\\ :]|+ ! HINGE (SEE DETAIL)
N =
Lo 8 NOS. M8 RAWLBOLTS \ it
8 Loy 100 LONG OR EQUIVALENT \\\ It%l
R e e e S
| E=gmp=m===m===g=r=" | g
~1 800 COVER -
PLAN
(LOCKING DEVICE NOT SHOWN FOR CLARITY)
(IJ IIIIIII 1.90 ZIIJO 390 4(|)0 5|00 mm
1:10 SCALE BR REF. REVISION APPROVED | DATE
K % =
ACCESS DOOR TO 900 x 600 ‘S’ Water Supplies Department
MANHOLE OPENING —— [ oL — o
(FOR FRESH WATER SERVICE Ao/ WSD 3.23
RESERVOIRS) DATE 13/8/19 '
o — (SHEET 1 OF 8)



AutoCAD SHX Text
(SHEET 1 OF 8)

AutoCAD SHX Text
Cad Ref. : WSD032301.dwg

AutoCAD SHX Text
13/8/19

AutoCAD SHX Text
1 : 10

AutoCAD SHX Text
O.L. PANG

AutoCAD SHX Text
3.23

AutoCAD SHX Text
%%UPLAN

AutoCAD SHX Text
VIEW `X'

AutoCAD SHX Text
%%USECTION A - A

AutoCAD SHX Text
AD/NW

AutoCAD SHX Text
WSD 

AutoCAD SHX Text
CSWP

AutoCAD SHX Text
30 x 6 THICK FLATS FOR LOCKING OF COVER IN FULLY OPEN CONDITION (SEE DETAIL)

AutoCAD SHX Text
8 NOS. M8 RAWLBOLTS 100 LONG OR EQUIVALENT

AutoCAD SHX Text
ACCESS DOOR TO 900 x 600  900 x 600 900 x 600 MANHOLE OPENING (FOR FRESH WATER SERVICE RESERVOIRS)

AutoCAD SHX Text
30 x 6 THICK ALUMINIUM ALLOY PLATE STIFFENER 

AutoCAD SHX Text
0

AutoCAD SHX Text
1 : 10  SCALE BAR

AutoCAD SHX Text
100

AutoCAD SHX Text
200

AutoCAD SHX Text
300

AutoCAD SHX Text
400

AutoCAD SHX Text
500 mm

AutoCAD SHX Text
HINGE (SEE DETAIL)

AutoCAD SHX Text
M8 ANCHOR BOLT

AutoCAD SHX Text
HINGE (SEE DETAIL)

AutoCAD SHX Text
LOCK ASSEMBLY (SEE DETAIL)

AutoCAD SHX Text
(LOCKING DEVICE NOT SHOWN FOR CLARITY)

AutoCAD SHX Text
 10 ALUMINIUMALLOY HANDLE

AutoCAD SHX Text
TURF/GRAVEL OR  SIMILAR LAYER

AutoCAD SHX Text
6 THICK ALUMINIUM ALLOY CHEQUER PLATE

AutoCAD SHX Text
ALUMINIUM PLATE LABEL IN CHINESE WELDED TO ALUMINIUM CHEQUER PLATE (SEE DETAIL)

AutoCAD SHX Text
ALUMINIUM PLATE LABEL IN ENGLISH WELDED TO ALUMINIUM CHEQUER PLATE (SEE DETAIL)

AutoCAD SHX Text
EMERGENCY EXIT PULL TO RELEASE

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
ANTIBURGLAR AND WEATHER PROOF BOX


Cad Ref. : WSD032302.dwg

1100 COVER

100 |50 50| 100
T f N

E{? g2-F 3 T E3= E%
I I
= = ==
z L ! ! S
S .I'\W | | r’ I
SRR LT TURF/GRAVEL OR
,}A.: | | E SIMILAR LAYER
T ] 900 | T
@« | T e
__:'4_4) Ei;;: __a
¢ b
VIEW X
AUTOMATIC LOCK AND HOLD ASSEMBLY /
AT 2 SIDES OF THE ACCESS DOOR y
SEE NOTE 4
( ) ///<§ﬁ54)

600

ELEVATION FOR AUTOMATIC LOCK AND HOLD ASSEMBLY
K % =
ACCESS DOOR TO 900 x 600 ‘S’ Water Supplies Department
MANHOLE OPENING —— ] oo —— =Q
(FOR FRESH WATER SERVICE AD/NW WSD 3.93
DATE 13/8/19 '
RESERVOIRS) - - (SHEET 2 OF 8)



AutoCAD SHX Text
Cad Ref. : WSD032302.dwg

AutoCAD SHX Text
(SHEET 2 OF 8)

AutoCAD SHX Text
1 : 10

AutoCAD SHX Text
%%UVIEW `X'

AutoCAD SHX Text
AD/NW

AutoCAD SHX Text
WSD 

AutoCAD SHX Text
CSWP

AutoCAD SHX Text
0

AutoCAD SHX Text
1 : 10  SCALE BAR

AutoCAD SHX Text
100

AutoCAD SHX Text
200

AutoCAD SHX Text
300

AutoCAD SHX Text
400

AutoCAD SHX Text
500 mm

AutoCAD SHX Text
AUTOMATIC LOCK AND HOLD ASSEMBLY AT 2 SIDES OF THE ACCESS DOOR (SEE NOTE 4) 

AutoCAD SHX Text
ELEVATION FOR AUTOMATIC LOCK AND HOLD ASSEMBLY

AutoCAD SHX Text
TURF/GRAVEL OR  SIMILAR LAYER

AutoCAD SHX Text
13/8/19

AutoCAD SHX Text
O.L. PANG

AutoCAD SHX Text
3.23

AutoCAD SHX Text
ACCESS DOOR TO 900 x 600  900 x 600 900 x 600 MANHOLE OPENING (FOR FRESH WATER SERVICE RESERVOIRS)


Cad Ref. : WSD032303.dwg

50 x 75 x 6 THICK /MG GRUB SCREW
STAINLESS STEEL ANGLE \ 23I
[ce]
* 7
o o
S
N
R16
R18

~——-75 x 75 x 6 THICK
STAINLESS STEEL CHANNEL

\'—I>M8 RAWLBOLT
<.
A |

—\

SECTION B — B

SCALE 1 :5

$32 BRASS SHIMS

/9)15 S.S. HINGE PIN

[{e]
~
-1 é%;

— M

— M

80
e
20|| 30 |20

T

I

I

I

I

I

I

I

I

o~

o

75

[

TAPPED M6 FOR

M6 GRUB SCREW

GRUB SCREW
: 815 S.S. HINGE PIN
%& — GRUB SCREW DETAIL
PLAN SCALE 1 : 1
HINGE
SCALE 1 : 5
X # =
ACCESS DOOR TO 900 x 600 ‘S’ Water Supplies Department
MANHOLE OPENING ] o — =a
(FOR FRESH WATER SERVICE AD/NW WSD 3.23
DATE 13/8/19 '

RESERVOIRS)

SCALE

1 :5 OR AS SHOWN

(SHEET 3 OF 8)



AutoCAD SHX Text
Cad Ref. : WSD032303.dwg

AutoCAD SHX Text
(SHEET 3 OF 8)

AutoCAD SHX Text
1 : 5 OR AS SHOWN

AutoCAD SHX Text
%%USECTION B - B

AutoCAD SHX Text
%%C15 S.S. HINGE PIN

AutoCAD SHX Text
%%UGRUB SCREW DETAIL

AutoCAD SHX Text
SCALE 1 : 1

AutoCAD SHX Text
SCALE 1 : 5

AutoCAD SHX Text
AD/NW

AutoCAD SHX Text
WSD 

AutoCAD SHX Text
CSWP

AutoCAD SHX Text
0

AutoCAD SHX Text
50 mm

AutoCAD SHX Text
1 : 1  SCALE BAR

AutoCAD SHX Text
10

AutoCAD SHX Text
20

AutoCAD SHX Text
30

AutoCAD SHX Text
40

AutoCAD SHX Text
1 : 5  SCALE BAR

AutoCAD SHX Text
0

AutoCAD SHX Text
100

AutoCAD SHX Text
50

AutoCAD SHX Text
150

AutoCAD SHX Text
200

AutoCAD SHX Text
250 mm

AutoCAD SHX Text
TAPPED M6 FOR  GRUB SCREW

AutoCAD SHX Text
 15 S.S. HINGE PIN

AutoCAD SHX Text
%%C32 BRASS SHIMS

AutoCAD SHX Text
%%UPLAN

AutoCAD SHX Text
%%uHINGE

AutoCAD SHX Text
SCALE 1 : 5

AutoCAD SHX Text
M8 RAWLBOLT

AutoCAD SHX Text
75 x 75 x 6 THICK STAINLESS STEEL CHANNEL

AutoCAD SHX Text
50 x 75 x 6 THICK STAINLESS STEEL ANGLE

AutoCAD SHX Text
M6 GRUB SCREW

AutoCAD SHX Text
R18

AutoCAD SHX Text
R16

AutoCAD SHX Text
M6 GRUB SCREW

AutoCAD SHX Text
B

AutoCAD SHX Text
B

AutoCAD SHX Text
13/8/19

AutoCAD SHX Text
O.L. PANG

AutoCAD SHX Text
3.23

AutoCAD SHX Text
ACCESS DOOR TO 900 x 600  900 x 600 900 x 600 MANHOLE OPENING (FOR FRESH WATER SERVICE RESERVOIRS)


: WSD032304.dwg

Cad Ref.

50 x 6 THICK STAINLESS STEEL
PLATE WELDED TO STAINLESS STEEL
ANGLE WITH @15 HOLE FOR CLOSED
SHACKLE PADLOCK

— 90 LONG #10
TO STAINLESS

50
TO

STAINLESS STEEL ROD WELDED
STEEL ANGLE AS GUIDE

x 6 THICK STOPPING BRACKET WELDED
PULL-OUT STAINLESS STEEL PLATE

6 THICK ALUMINIUM CHANNEL
4 NOS. STAINLESS STEEL

M8 BOLT AND NUT WITH WASHERS

FILLET WELD
/—MANHOLE COVER

50 x 6 THICK STOPPING BRACKET ©

WELDED TO PULL—OUT STAINLESS \ 7 4 .

STEEL PLATE \ ( /i / / 100 x 6 THCK STANLESS o

50 x 6 THICK PULL-OUT STAINLESS 4 N [ STEEL PLATE

STEEL PLATE WITH #15 HOLE FOR _\\\@“-W S IF STAINLESS STEEL SPRING @1

PADLOCK il . =
40mm CLOSED SHACKLE b, 1 SLIDING MOVEMENT FOR ®
PADLOCK WITH SLIDING UNLOCKING FROM INSIDE _1
KEYHOLE COVER / 20 88 STANLESS STEEL HANDLE PAINTED

ANTIBURGLAR AND WEATHERPROOF WITH BLACK AND YELLOW STRIPES

BOX STAINLESS STEEL SLEEVE WELDED TO

#8 STAINLESS STEEL HANDLE

2 x 2 CHAMFER

2 x 2 CHAMFER

DETAIL "1

SCALE 1:1

-— V] I
#15 HOLE FOR CLOSED SHACKLE PADLOCK J
(CLOSED SHACKLE PADLOCK NOT SHOWN

FOR CLARITY)

I
|
I
#8 STAINLESS STEEL HANDLE /

.
SLIDING MOVEMENT | |.-
FOR UNLOCKING : N

FROM OUTSIDE \
75 x 75 x 6 THICK

STAINLESS STEEL CHANNEL

SECTION C = C

100

WEATHERPROOF BOX

x 6 THICK STAINLESS STEEL PLATE

M8 RAWLBOLT

l188

o

50 LONG @10 STAINLESS STEEL ROD WELDED
TO STAINLESS STEEL ANGLE AS GUIDE

50 1 (I)O 1 f|>0 Z(I)O

50 x 6 THICK STOPPING BRACKET

PLAN
LOCK ASSEMBLY DETAIL

2|50 mm [I) | 1 I0 ZIO 3|0 4-|0

\\—STAINLESS STEEL SLEEVE

WELDED TO 100 x 6 THICK
STAINLESS STEEL PLATE

EI>O mm

1:5 SCALE BAR

1:1 SCAE BAR

——4 NOS. STAINLESS
STEEL M8 BOLT AND
NUT WITH WASHERS

ACCESS DOOR TO 900 x 600 ‘S’

MANHOLE OPENING

(FOR FRESH WATER SERVICE

RESERVOIRS)

K #HE
Water Supplies Department

O.L. PANG
APPROVED AW '\J;g’gc ’?-23
DATE 13/8/19 '
SCALE 1 : 5 OR AS SHOWN <SHEET 4 OF

cswp

8)



AutoCAD SHX Text
(SHEET 4 OF 8)

AutoCAD SHX Text
Cad Ref. : WSD032304.dwg

AutoCAD SHX Text
1 : 5 OR AS SHOWN

AutoCAD SHX Text
%%ULOCK ASSEMBLY DETAIL

AutoCAD SHX Text
AD/NW

AutoCAD SHX Text
WSD 

AutoCAD SHX Text
CSWP

AutoCAD SHX Text
MANHOLE COVER

AutoCAD SHX Text
SLIDING MOVEMENT FOR UNLOCKING FROM INSIDE

AutoCAD SHX Text
50 x 6 THICK STAINLESS STEEL PLATE WELDED TO STAINLESS STEEL ANGLE WITH  15 HOLE FOR CLOSED SHACKLE PADLOCK PADLOCK

AutoCAD SHX Text
50 x 6 THICK PULL-OUT STAINLESS STEEL PLATE WITH  15 HOLE FORPADLOCK

AutoCAD SHX Text
50 x 6 THICK STOPPING BRACKET WELDED TO PULL-OUT STAINLESS STEEL PLATE

AutoCAD SHX Text
1 : 5  SCALE BAR

AutoCAD SHX Text
0

AutoCAD SHX Text
100

AutoCAD SHX Text
50

AutoCAD SHX Text
150

AutoCAD SHX Text
200

AutoCAD SHX Text
250 mm

AutoCAD SHX Text
40mm CLOSED SHACKLE  CLOSED SHACKLE PADLOCK WITH SLIDING KEYHOLE COVER

AutoCAD SHX Text
M8 RAWLBOLT

AutoCAD SHX Text
100 x 6 THICK STAINLESS STEEL PLATE

AutoCAD SHX Text
 8 STAINLESS STEEL HANDLE PAINTEDWITH BLACK AND YELLOW STRIPES

AutoCAD SHX Text
6 THICK ALUMINIUM CHANNEL

AutoCAD SHX Text
FILLET WELD

AutoCAD SHX Text
75 x 75 x 6 THICK STAINLESS STEEL CHANNEL

AutoCAD SHX Text
%%USECTION C - C

AutoCAD SHX Text
%%UPLAN

AutoCAD SHX Text
50 x 6 THICK STOPPING BRACKET

AutoCAD SHX Text
50 LONG  10 STAINLESS STEEL ROD WELDEDTO STAINLESS STEEL ANGLE AS GUIDE

AutoCAD SHX Text
 15 HOLE FOR CLOSED SHACKLE PADLOCK(CLOSED SHACKLE PADLOCK NOT SHOWN FOR CLARITY)TY))

AutoCAD SHX Text
50 LONG  10 STAINLESS STEEL ROD WELDEDTO STAINLESS STEEL ANGLE AS GUIDE

AutoCAD SHX Text
 8 STAINLESS STEEL HANDLE

AutoCAD SHX Text
STAINLESS STEEL SPRING

AutoCAD SHX Text
STAINLESS STEEL SLEEVE WELDED TO 100 x 6 THICK STAINLESS STEEL PLATE

AutoCAD SHX Text
STAINLESS STEEL SLEEVE WELDED TO 100 x 6 THICK STAINLESS STEEL PLATE

AutoCAD SHX Text
SLIDING MOVEMENT FOR UNLOCKING FROM OUTSIDE

AutoCAD SHX Text
50 x 6 THICK STOPPING BRACKET WELDED TO PULL-OUT STAINLESS STEEL PLATE

AutoCAD SHX Text
 8 STAINLESS STEEL HANDLE

AutoCAD SHX Text
2 x 2 CHAMFER

AutoCAD SHX Text
DETAIL `1'

AutoCAD SHX Text
0

AutoCAD SHX Text
50 mm

AutoCAD SHX Text
1 : 1  SCALE BAR

AutoCAD SHX Text
10

AutoCAD SHX Text
20

AutoCAD SHX Text
30

AutoCAD SHX Text
40

AutoCAD SHX Text
SCALE 1:1

AutoCAD SHX Text
C

AutoCAD SHX Text
C

AutoCAD SHX Text
1

AutoCAD SHX Text
2 x 2 CHAMFER

AutoCAD SHX Text
4 NOS. STAINLESS STEEL M8 BOLT AND NUT WITH WASHERS

AutoCAD SHX Text
4 NOS. STAINLESS STEEL M8 BOLT AND NUT WITH WASHERS

AutoCAD SHX Text
ANTIBURGLAR AND WEATHERPROOF BOX

AutoCAD SHX Text
ANTIBURGLAR AND WEATHERPROOF BOX

AutoCAD SHX Text
13/8/19

AutoCAD SHX Text
O.L. PANG

AutoCAD SHX Text
3.23

AutoCAD SHX Text
ACCESS DOOR TO 900 x 600  900 x 600 900 x 600 MANHOLE OPENING (FOR FRESH WATER SERVICE RESERVOIRS)


: WSD032305.dwg

Cad Ref.

424‘4‘_—_H+ \ STEEL ANGLE FOR PULL—OUT PLATE
333333333333 33))))))
© [ |
© | L | 50 LONG ¢10 STAINLESS STEEL ROD WELDED
N dk + TO STAINLESS STEEL ANGLE AS GUIDE
TR | T
50 x 75 x 6 THICK: 50 x 6 THICK PULL—OUT STAINLESS STEEL
STAINLESS STEEL ANGLE PLATE WITH 815 HOLE FOR PADLOCK
FILLET WELD \\
$8 STAINLESS STEEL HANDLE
DETAIL ‘2’
SCALE 1 : 2

(PADLOCK NOT SHOWN FOR CLARIFICATION)

MANHOLE COVER e ANTIBURGLAR AND
TN WEATHERPROOF BOX

50 x 75 x 6 THICK——=| / ==

STAINLESS STEEL ANGLE ———1——i —
N

75 x 75 x 6 THICK ke

STAINLESS STEEL e -

MANHOLE

FILLET WELD

ELEVATION

LOCK ASSEMBLY DETAIL

50 x 6 THK. STAINLESS 2 THK. STAINLESS STEEL

54 x 14 OPENING CUT IN STAINLESS

CHANNEL
50 x 6 THK. STAINLESS
EJ%%TXHE;KwEﬁN%?)EE @ STEEL FLAT BAR WELDED
TO 75 x 75 x 6 THK.

N STAINLESS STEEL CHANNEL

STEEL FLAT BAR 2 PLATE L
I —
S | | | | o
= | | | | o
it
| | s
| 150 | /
! ' 50 x 6 THK. STAINLESS FLAT
PLAN smntess sieel e CLEVATION
ANTIBURGLAR AND WEATHERPROOF BOX
K B =
ACCESS DOOR TO 900 x 600 ‘S’ Water Supplies Department
MANHOLE OPENING —— —— =
(FOR FRESH WATER SERVICE A0/ WSD 323
RESERVOIRS) DATE 13/8/19 '
SCALE 1:5 OR AS SHOWN (SHEET 5 OF 8)



AutoCAD SHX Text
(SHEET 5 OF 8)

AutoCAD SHX Text
Cad Ref. : WSD032305.dwg

AutoCAD SHX Text
1 : 5 OR AS SHOWN

AutoCAD SHX Text
AD/NW

AutoCAD SHX Text
WSD 

AutoCAD SHX Text
CSWP

AutoCAD SHX Text
%%UELEVATION

AutoCAD SHX Text
75 x 75 x 6 THICK STAINLESS STEEL CHANNEL

AutoCAD SHX Text
100 THICK CONCRETE UPSTAND WALL FOR MANHOLE

AutoCAD SHX Text
MANHOLE COVER

AutoCAD SHX Text
%%UDETAIL `2'

AutoCAD SHX Text
SCALE 1 : 2

AutoCAD SHX Text
50 x 75 x 6 THICK STAINLESS STEEL ANGLE

AutoCAD SHX Text
50 x 75 x 6 THICK STAINLESS STEEL ANGLE

AutoCAD SHX Text
FILLET WELD

AutoCAD SHX Text
50 LONG  10 STAINLESS STEEL ROD WELDEDTO STAINLESS STEEL ANGLE AS GUIDE

AutoCAD SHX Text
(PADLOCK NOT SHOWN FOR CLARIFICATION)

AutoCAD SHX Text
50 x 6 THICK PULL-OUT STAINLESS STEEL PLATE WITH  15 HOLE FOR PADLOCK

AutoCAD SHX Text
%%ULOCK ASSEMBLY DETAIL

AutoCAD SHX Text
0

AutoCAD SHX Text
1 : 2  SCALE BAR

AutoCAD SHX Text
100 mm

AutoCAD SHX Text
50

AutoCAD SHX Text
1 : 5  SCALE BAR

AutoCAD SHX Text
0

AutoCAD SHX Text
100

AutoCAD SHX Text
50

AutoCAD SHX Text
150

AutoCAD SHX Text
200

AutoCAD SHX Text
250 mm

AutoCAD SHX Text
 8 STAINLESS STEEL HANDLE

AutoCAD SHX Text
54 x 14 OPENING CUT IN STAINLESS STEEL ANGLE FOR PULL-OUT PLATE

AutoCAD SHX Text
2

AutoCAD SHX Text
FILLET WELD

AutoCAD SHX Text
2 THK. STAINLESS STEEL PLATE

AutoCAD SHX Text
50 x 6 THK. STAINLESS STEEL FLAT BARFLAT BAR

AutoCAD SHX Text
50 x 6 THK. STAINLESS FLAT BAR WELDED TO 2 THK. STAINLESS STEEL PLATE

AutoCAD SHX Text
%%UPLAN

AutoCAD SHX Text
%%UELEVATION

AutoCAD SHX Text
%%UANTIBURGLAR AND WEATHERPROOF BOX

AutoCAD SHX Text
ANTIBURGLAR AND WEATHERPROOF BOX

AutoCAD SHX Text
50 x 6 THK. STAINLESS STEEL FLAT BAR WELDED TO 75 x 75 x 6 THK. STAINLESS STEEL CHANNEL

AutoCAD SHX Text
13/8/19

AutoCAD SHX Text
O.L. PANG

AutoCAD SHX Text
3.23

AutoCAD SHX Text
ACCESS DOOR TO 900 x 600  900 x 600 900 x 600 MANHOLE OPENING (FOR FRESH WATER SERVICE RESERVOIRS)


Cad Ref. : WSD032306.dwg

/

MANHOLE COVER
=t ———

50 x 75 x 6 THICKH
STAINLESS STEEL ANGLE
E

R4 PADLOCK
L }* _
REAR LOCKING PLATE WELDED

TO 75 x 75 x 6 THICK
STAINLESS STEEL CHANNEL

75 x 75 x 6 THICK
STAINLESS STEEL CHANNEL

COVER

FILLET WELD

6 THICK REAR LOCKING PLATE

50 x 75 x 6 THICK
STAINLESS STEEL ANGLE

—— 915 HOLES
/ —— S Cvew Y
15 AN
3——) NN PADLOCK

75 x 75 x 6 THICK
STAINLESS STEEL CHANNEL
~——6 THICK REAR LOCKING PLATE
WELDED TO 75 x 75 x 6 THICK
STAINLESS STEEL CHANNEL

\ K

A .

100 THICK CONCRETE Y

UPSTAND WALL FOR MANHOLE | . N |

LOCKING ARRANGEMENT FOR COVER IN FULLY OPEN CONDITION

K % =
ACCESS DOOR TO 900 x 600 ‘S’ Water Supplies Department
MANHOLE OPENING —— ] oo —— =Q
(FOR FRESH WATER SERVICE AD/NW WSD 3.93
DATE 13/8/19 '

RESERVOIRS) - — (SHEET 6 OF 8)



AutoCAD SHX Text
AD/NW

AutoCAD SHX Text
WSD 

AutoCAD SHX Text
CSWP

AutoCAD SHX Text
Cad Ref. : WSD032306.dwg

AutoCAD SHX Text
(SHEET 6 OF 8)

AutoCAD SHX Text
1 : 2

AutoCAD SHX Text
PADLOCK

AutoCAD SHX Text
%%uLOCKING ARRANGEMENT FOR COVER IN FULLY OPEN CONDITION

AutoCAD SHX Text
%%UVIEW `Y'

AutoCAD SHX Text
REAR LOCKING PLATE WELDED TO 75 x 75 x 6 THICK STAINLESS STEEL CHANNEL

AutoCAD SHX Text
75 x 75 x 6 THICK STAINLESS STEEL CHANNEL

AutoCAD SHX Text
50 x 75 x 6 THICK STAINLESS STEEL ANGLE

AutoCAD SHX Text
MANHOLE COVER

AutoCAD SHX Text
PADLOCK

AutoCAD SHX Text
 15 HOLES

AutoCAD SHX Text
6 THICK REAR LOCKING PLATE WELDED TO 75 x 75 x 6 THICK STAINLESS STEEL CHANNEL

AutoCAD SHX Text
6 THICK REAR LOCKING PLATE

AutoCAD SHX Text
FILLET WELD

AutoCAD SHX Text
COVER

AutoCAD SHX Text
75 x 75 x 6 THICK STAINLESS STEEL CHANNEL

AutoCAD SHX Text
50 x 75 x 6 THICK STAINLESS STEEL ANGLE

AutoCAD SHX Text
VIEW `Y'

AutoCAD SHX Text
100 THICK CONCRETE UPSTAND WALL FOR MANHOLE

AutoCAD SHX Text
0

AutoCAD SHX Text
1 : 2  SCALE BAR

AutoCAD SHX Text
100 mm

AutoCAD SHX Text
50

AutoCAD SHX Text
13/8/19

AutoCAD SHX Text
O.L. PANG

AutoCAD SHX Text
3.23

AutoCAD SHX Text
ACCESS DOOR TO 900 x 600  900 x 600 900 x 600 MANHOLE OPENING (FOR FRESH WATER SERVICE RESERVOIRS)


Cad Ref. : WSD032307.dwg

200

110
35

EMERGENCY  EXIT
PULL TO RELEASE

i

ALUMINIUM PLATE LABEL IN ENGLISH

200

110

[

e
&
=

/|
s

|

|
11
.

1

o
—
—

35

ALUMINIUM PLATE LABEL IN CHINESE

ACCESS DOOR TO 900 x 600

MANHOLE OPENING
(FOR FRESH WATER SERVICE
RESERVOIRS)

\ >

Water Supplies Department

K % =

APPROVED

0.L. PANG
AD/NW

DRAWING NO. | Cswe |

DATE

13/8/19

WSD 3.23

SCALE

1:2

(SHEET 7 OF 8)



AutoCAD SHX Text
(SHEET 7 OF 8)

AutoCAD SHX Text
Cad Ref. : WSD032307.dwg

AutoCAD SHX Text
1 : 2

AutoCAD SHX Text
AD/NW

AutoCAD SHX Text
WSD 

AutoCAD SHX Text
CSWP

AutoCAD SHX Text
EMERGENCY EXIT PULL TO RELEASE

AutoCAD SHX Text
ALUMINIUM PLATE LABEL IN ENGLISH

AutoCAD SHX Text
ALUMINIUM PLATE LABEL IN CHINESE

AutoCAD SHX Text
0

AutoCAD SHX Text
1 : 2  SCALE BAR

AutoCAD SHX Text
100 mm

AutoCAD SHX Text
50

AutoCAD SHX Text
13/8/19

AutoCAD SHX Text
O.L. PANG

AutoCAD SHX Text
3.23

AutoCAD SHX Text
ACCESS DOOR TO 900 x 600  900 x 600 900 x 600 MANHOLE OPENING (FOR FRESH WATER SERVICE RESERVOIRS)


: WSD032308.dwg

Cad Ref.

NOTES :

1.
2.

10.

1.

12,

13.

14,
15.

16.

17.

18.

ALL DIMENSIONS ARE IN MILLIMETRES.

THIS DRAWING SHOULD BE READ IN CONJUNCTION WITH DRAWING NO. WSD 3.5 AND WSD 3.7 FOR A 100 mm THICK
CONCRETE UPSTAND WALL SURROUNDING A MANHOLE OPENING WITH SIZE 900 mm X 600 mm. THE DIMENSIONS OF
THE COVER AND FRAME FOR THE ACCESS DOOR SHALL BE INCREASED ACCORDINGLY BY 100 mm IN CASE OF A 150
mm THICK CONCRETE UPSTAND WALL SURROUNDING A MANHOLE OPENING WITH SIZE 900 mm X 600 mm.

THE COVER OF THE ACCESS DOOR SHALL BE MADE OF ALUMINIUM ALLOY FOR DAMP AND CHLORINATED ENVIRONMENT
WITH NON-SLIP SURFACES. IT SHALL BE STIFFENED WITH STIFFENERS AND CAPABLE OF WITHSTANDING AN IMPOSED LOAD
OF 5 kN/m? SUCH THAT A MAXIMUM DEFLECTION OF THE COVER UNDER THE ACTION OF DEAD AND IMPOSED LOAD
SHALL NOT EXCEED 6 mm.

THE COVER OF THE ACCESS DOOR SHALL BE ABLE TO BE OPENED TO AN ANGLE OF 105  TO THE HORIZONTAL AND
LOCKED AND HELD AUTOMATICALLY AT FULLY OPEN POSITION. THE AUTOMATIC LOCK AND HOLD ASSEMBLY SHALL BE
ABLE TO BE HELD/RELEASED BY AN OPERATOR USING ONE HAND WHEN CLOSING THE COVER.

THE LOCK ASSEMBLY (INCLUDING THE LOCKING DEVICE) SHALL ENABLE LOCKING AND UNLOCKING FROM OUTSIDE (WITH
KEY) AND INSIDE (WITHOUT KEY) OF THE MANHOLE.

THE ACCESS DOOR SHALL BE EQUIPPED WITH A TORSION BAR OR EQUIVALENT OPERATION MECHANISMS THAT ENABLE
THE COVER TO BE OPENED OR CLOSED BY AN OPERATOR USING ONE HAND. THE WEIGHT OF THE DOOR WITHOUT THE
FRAME AND THE TOTAL WEIGHT OF THE DOOR SHALL NOT EXCEED 30 kg AND 50 kg RESPECTIVELY UNLESS OTHERWISE
APPROVED BY THE ENGINEER.

THE ACCESS DOOR SHALL BE WATERPROOF WHEN IN THE FULLY CLOSED POSITION.

PARTICULARS OF THE ACCESS DOOR, INCLUDING THE AUTOMATIC LOCK AND HOLD ASSEMBLY AND THE LOCK ASSEMBLY,
SHALL BE SUBMITTED TO THE ENGINEER FOR APPROVAL. MANUFACTURING OF THE ACCESS DOOR SHALL NOT COMMENCE
PRIOR TO THE APPROVAL.

SHARP EDGES OF THE ACCESS DOOR SHALL BE MACHINE-FINISHED TO FORM SMOOTH SURFACES.

WHERE DISSIMILAR METALS ARE MATED, SUCH AS ALUMINIUM AND STEEL, THE MATING SURFACES SHALL BE INSULATED
TO PROVIDE PROTECTION AGAINST GALVANIC CORROSION. BOLTS, NUTS, WASHERS AND RIVETS SHALL BE SIMILARLY
INSULATED. THE MEANS OF PROVIDING THIS PROTECTION SHALL BE SUBMITTED TO THE ENGINEER FOR APPROVAL.

ITEMS WHICH ARE TO BE BOLTED OR RIVETED TOGETHER AT THE MANUFACTURER’S FACTORY SHALL HAVE THE PRIMING
COAT APPLIED BEFORE THE PARTS ARE ASSEMBLED. THE MATING SURFACES OF THESE ITEMS SHALL BE SEALED WITH
LITHARGE AND GLYCERINE OR AN APPROVED PUTTY DURING ERECTION. FOR ALUMINIUM ALLOY, THE MATING SURFACES
SHALL BE SEALED WITH AN APPROVED SEALER.

ALUMINIUM ALLOY PLATES SHALL BE TO BS EN 485-1+A1, BS EN 485-2, BS EN 485-3, BS EN 485-4, BS EN 515,
BS EN 573-1, BS EN 573-2, BS EN 573-3 AND BS EN 573-5. ALUMINIUM ALLOY BARS SHALL BE TO BS EN 515,
BS EN 573-1, BS EN 573-2, BS EN 573-3, BS EN 573-5, BS EN 755 AND BS EN 12020.

STAINLESS STEEL PLATE, SHEET AND STRIP SHALL BE OF STEEL DESIGNATION 1.4404 TO BS EN 10088-2 FOR FLAT
PRODUCT, BS EN 10088-3 FOR LONG PRODUCT, BS EN 10296-2 FOR TUBE, AND SHALL BE TO BS EN 10095, BS EN
10048, BS EN ISO 9445—1 AND BS EN ISO 9445-2. STAINLESS STEEL SPRING SHALL BE OF STEEL DESIGNATION
1.4401 TO BS EN 10270-3.

ALL CONNECTIONS SHOWN ARE INDICATIVE ONLY.

THE FACES OF THE ALUMINIUM PLATE LABELS SHALL BE CONSTRUCTED WITH CLASS REF. 1 REFLECTIVE MATERIALS TO
BS EN 12899—1. THE PLATE LABEL SHALL BE YELLOW IN COLOUR (CODE 08 E 51 TO BS 5252F) AND THE CHINESE
CHARACTER, ENGLISH LETTERING AND ARROW SIGN SHALL BE BLACK IN COLOUR (CODE 00 E 53 TO BS 5252F).

ALL WELDS SHALL BE 3 mm FILLET WELD.

THE ANTIBURGLAR AND WEATHERPROOF BOX SHALL ENABLE LOCKING AND UNLOCKING FROM OUTSIDE (WITH KEY) OF THE
MANHOLE.

PADLOCK SHALL BE STAINLESS STEEL CLOSED SHACKLE PADLOCK.

K % =
ACCESS DOOR TO 900 x 600 ‘S’ Water Supplies Department
MANHOLE OPENING — —— o

(FOR FRESH WATER SERVICE
RESERVOIRS) DATE 13/8/19 (SHEET 8 OF 8)

APPROVED AD/NW

WSD 3.23

SCALE NOT APPLICABLE



AutoCAD SHX Text
(SHEET 8 OF 8)

AutoCAD SHX Text
Cad Ref. : WSD032308.dwg

AutoCAD SHX Text
NOT APPLICABLE

AutoCAD SHX Text
AD/NW

AutoCAD SHX Text
WSD 

AutoCAD SHX Text
CSWP

AutoCAD SHX Text
NOTES :

AutoCAD SHX Text
1. ALL DIMENSIONS ARE IN MILLIMETRES. ALL DIMENSIONS ARE IN MILLIMETRES. 2. THIS DRAWING SHOULD BE READ IN CONJUNCTION WITH DRAWING NO. WSD 3.5 AND WSD 3.7 FOR A 100 mm THICK THIS DRAWING SHOULD BE READ IN CONJUNCTION WITH DRAWING NO. WSD 3.5 AND WSD 3.7 FOR A 100 mm THICK CONCRETE UPSTAND WALL SURROUNDING A MANHOLE OPENING WITH SIZE 900 mm X 600 mm.  THE DIMENSIONS OF THE COVER AND FRAME FOR THE ACCESS DOOR SHALL BE INCREASED ACCORDINGLY BY 100 mm IN CASE OF A 150 mm THICK CONCRETE UPSTAND WALL SURROUNDING A MANHOLE OPENING WITH SIZE 900 mm X 600 mm. 3. THE COVER OF THE ACCESS DOOR SHALL BE MADE OF ALUMINIUM ALLOY FOR DAMP AND CHLORINATED ENVIRONMENT THE COVER OF THE ACCESS DOOR SHALL BE MADE OF ALUMINIUM ALLOY FOR DAMP AND CHLORINATED ENVIRONMENT WITH NON-SLIP SURFACES. IT SHALL BE STIFFENED WITH STIFFENERS AND CAPABLE OF WITHSTANDING AN IMPOSED LOAD OF 5 kN/m² SUCH THAT A MAXIMUM DEFLECTION OF THE COVER UNDER THE ACTION OF DEAD AND IMPOSED LOAD SHALL NOT EXCEED 6 mm. 4. THE COVER OF THE ACCESS DOOR SHALL BE ABLE TO BE OPENED TO AN ANGLE OF 105  TO THE HORIZONTAL AND THE COVER OF THE ACCESS DOOR SHALL BE ABLE TO BE OPENED TO AN ANGLE OF 105  TO THE HORIZONTAL AND ° TO THE HORIZONTAL AND LOCKED AND HELD AUTOMATICALLY AT FULLY OPEN POSITION.  THE AUTOMATIC LOCK AND HOLD ASSEMBLY SHALL BE ABLE TO BE HELD/RELEASED BY AN OPERATOR USING ONE HAND WHEN CLOSING THE COVER. 5. THE LOCK ASSEMBLY (INCLUDING THE LOCKING DEVICE) SHALL ENABLE LOCKING AND UNLOCKING FROM OUTSIDE (WITH THE LOCK ASSEMBLY (INCLUDING THE LOCKING DEVICE) SHALL ENABLE LOCKING AND UNLOCKING FROM OUTSIDE (WITH KEY) AND INSIDE (WITHOUT KEY) OF THE MANHOLE. 6. THE ACCESS DOOR SHALL BE EQUIPPED WITH A TORSION BAR OR EQUIVALENT OPERATION MECHANISMS THAT ENABLE THE ACCESS DOOR SHALL BE EQUIPPED WITH A TORSION BAR OR EQUIVALENT OPERATION MECHANISMS THAT ENABLE THE COVER TO BE OPENED OR CLOSED BY AN OPERATOR USING ONE HAND. THE WEIGHT OF THE DOOR WITHOUT THE THE WEIGHT OF THE DOOR WITHOUT THE FRAME AND THE TOTAL WEIGHT OF THE DOOR SHALL NOT EXCEED 30 kg AND 50 kg RESPECTIVELY UNLESS OTHERWISE  AND 50 kg RESPECTIVELY UNLESS OTHERWISE kg RESPECTIVELY UNLESS OTHERWISE  RESPECTIVELY UNLESS OTHERWISE APPROVED BY THE ENGINEER. 7. THE ACCESS DOOR SHALL BE WATERPROOF WHEN IN THE FULLY CLOSED POSITION. THE ACCESS DOOR SHALL BE WATERPROOF WHEN IN THE FULLY CLOSED POSITION. 8. PARTICULARS OF THE ACCESS DOOR, INCLUDING THE AUTOMATIC LOCK AND HOLD ASSEMBLY AND THE LOCK ASSEMBLY, PARTICULARS OF THE ACCESS DOOR, INCLUDING THE AUTOMATIC LOCK AND HOLD ASSEMBLY AND THE LOCK ASSEMBLY, , INCLUDING THE AUTOMATIC LOCK AND HOLD ASSEMBLY AND THE LOCK ASSEMBLY,  INCLUDING THE AUTOMATIC LOCK AND HOLD ASSEMBLY AND THE LOCK ASSEMBLY,  LOCK ASSEMBLY, LOCK ASSEMBLY, SHALL BE SUBMITTED TO THE ENGINEER FOR APPROVAL. MANUFACTURING OF THE ACCESS DOOR SHALL NOT COMMENCE  MANUFACTURING OF THE ACCESS DOOR SHALL NOT COMMENCE MANUFACTURING OF THE ACCESS DOOR SHALL NOT COMMENCE PRIOR TO THE APPROVAL. 9. SHARP EDGES OF THE ACCESS DOOR SHALL BE MACHINE-FINISHED TO FORM SMOOTH SURFACES. SHARP EDGES OF THE ACCESS DOOR SHALL BE MACHINE-FINISHED TO FORM SMOOTH SURFACES. 10. WHERE DISSIMILAR METALS ARE MATED, SUCH AS ALUMINIUM AND STEEL, THE MATING SURFACES SHALL BE INSULATED WHERE DISSIMILAR METALS ARE MATED, SUCH AS ALUMINIUM AND STEEL, THE MATING SURFACES SHALL BE INSULATED TO PROVIDE PROTECTION AGAINST GALVANIC CORROSION. BOLTS, NUTS, WASHERS AND RIVETS SHALL BE SIMILARLY INSULATED. THE MEANS OF PROVIDING THIS PROTECTION SHALL BE SUBMITTED TO THE ENGINEER FOR APPROVAL. 11. ITEMS WHICH ARE TO BE BOLTED OR RIVETED TOGETHER AT THE MANUFACTURER'S FACTORY SHALL HAVE THE PRIMING ITEMS WHICH ARE TO BE BOLTED OR RIVETED TOGETHER AT THE MANUFACTURER'S FACTORY SHALL HAVE THE PRIMING COAT APPLIED BEFORE THE PARTS ARE ASSEMBLED. THE MATING SURFACES OF THESE ITEMS SHALL BE SEALED WITH LITHARGE AND GLYCERINE OR AN APPROVED PUTTY DURING ERECTION. FOR ALUMINIUM ALLOY, THE MATING SURFACES SHALL BE SEALED WITH AN APPROVED SEALER. 12. ALUMINIUM ALLOY PLATES SHALL BE TO BS EN 485-1+A1, BS EN 485-2, BS EN 485-3, BS EN 485-4, BS EN 515, ALUMINIUM ALLOY PLATES SHALL BE TO BS EN 485-1+A1, BS EN 485-2, BS EN 485-3, BS EN 485-4, BS EN 515, BS EN 573-1, BS EN 573-2, BS EN 573-3 AND BS EN 573-5. ALUMINIUM ALLOY BARS SHALL BE TO BS EN 515, BS EN 573-1, BS EN 573-2, BS EN 573-3, BS EN 573-5, BS EN 755 AND BS EN 12020. 13. STAINLESS STEEL PLATE, SHEET AND STRIP SHALL BE OF STEEL DESIGNATION 1.4404 TO BS EN 10088-2 FOR FLAT STAINLESS STEEL PLATE, SHEET AND STRIP SHALL BE OF STEEL DESIGNATION 1.4404 TO BS EN 10088-2 FOR FLAT PRODUCT, BS EN 10088-3 FOR LONG PRODUCT, BS EN 10296-2 FOR TUBE, AND SHALL BE TO BS EN 10095, BS EN 10048, BS EN ISO 9445-1 AND BS EN ISO 9445-2. STAINLESS STEEL SPRING SHALL BE OF STEEL DESIGNATION 1.4401 TO BS EN 10270-3. 14. ALL CONNECTIONS SHOWN ARE INDICATIVE ONLY. ALL CONNECTIONS SHOWN ARE INDICATIVE ONLY. 15. THE FACES OF THE ALUMINIUM PLATE LABELS SHALL BE CONSTRUCTED WITH CLASS REF. 1 REFLECTIVE MATERIALS TO THE FACES OF THE ALUMINIUM PLATE LABELS SHALL BE CONSTRUCTED WITH CLASS REF. 1 REFLECTIVE MATERIALS TO BS EN 12899-1. THE PLATE LABEL SHALL BE YELLOW IN COLOUR (CODE 08 E 51 TO BS 5252F) AND THE CHINESE PLATE LABEL SHALL BE YELLOW IN COLOUR (CODE 08 E 51 TO BS 5252F) AND THE CHINESE CHARACTER, ENGLISH LETTERING AND ARROW SIGN SHALL BE BLACK IN COLOUR (CODE 00 E 53 TO BS 5252F). 16. ALL WELDS SHALL BE 3 mm FILLET WELD. ALL WELDS SHALL BE 3 mm FILLET WELD. 17. THE ANTIBURGLAR AND WEATHERPROOF BOX SHALL ENABLE LOCKING AND UNLOCKING FROM OUTSIDE (WITH KEY) OF THE THE ANTIBURGLAR AND WEATHERPROOF BOX SHALL ENABLE LOCKING AND UNLOCKING FROM OUTSIDE (WITH KEY) OF THE MANHOLE. 18. PADLOCK SHALL BE STAINLESS STEEL CLOSED SHACKLE PADLOCK.PADLOCK SHALL BE STAINLESS STEEL CLOSED SHACKLE PADLOCK.

AutoCAD SHX Text
13/8/19

AutoCAD SHX Text
O.L. PANG

AutoCAD SHX Text
3.23

AutoCAD SHX Text
ACCESS DOOR TO 900 x 600  900 x 600 900 x 600 MANHOLE OPENING (FOR FRESH WATER SERVICE RESERVOIRS)


	WSD032301
	WSD032302
	WSD032303
	WSD032304
	WSD032305
	WSD032306
	WSD032307
	WSD032308

